) feoy= att-a+’-4o

Max hm Max Zero: 1

O = :;(t £ ;zo>

£3) o) £ -6t 49t

Max zero. D
Max turn ’ Y

O=+t (t'-pt*+a)
O=t (¢ -3 yg-3)

to =3
™
othj Ltz 4=t
¢ t=
5 et
{ even
w\. (2)
Ml

W‘h\

-

t=1i5 13

405 odd (N
~V5 odd ()
Al oa'o\ (l)
0dd (1)



) £60 =7 (42

2.3A Notes

D99r<€:5 ¢

Twrn ' Y

Zero. X=0 (2)even CJFDMC"\}
X=-2 (3)odd (cross)

7

Long Division

fx) = 6x° -19x* + 15x - 4

A

N

y

P
[

2

1
I

aN L s 5 R

Notice that one of the zeros of fis x = 2. This means
that (x - 2) 1s a factor of f{(x) and there exists a second-
degree polynomial g(x) such that:

fx) = (x - 2)-q(x) bx3-7x +|

. X-2) ox > 195 4 15x-4
= (X‘Z\((Ox ‘7><+D~3._ _(ox“a.;.)a)(:‘ J

X-2 3 5

-Ix+15
L

X-1

Xt

-2

How do you find ¢g(x)?



The Division Algorithm

If f(x) and d(x) are polynomials such that d(x) # 0, and the degree of d(x) is less
than or equal to the degree of f(x), there exist unique polynomials ¢(x) and r(x)
such that

fx) = dx)g(x) + r(x)

Dividend 1 Quolican

Divisor Remainder

where r(x) = 0 or the degree of r(x) is less than the degree of d(x). If the remainder
r(x) is zero, d(x) divides evenly into f(x).

Another way to write the division algorithm is:

) _ )
R €

f(x):6x3 -19.x2+ 15X-4 d(x):x_z ALy

[y

‘VM

ey

5]

S 9]

S gtn




Find all of the zeros by long division.

Yy
divisor %<+‘ f)=5+72-x-3 %
= X Adx+| (AN )
Sx-3  xH2xl SN R
o1 -2 1 2
— 3 I
Al X HAXH]) Sy vt x-3
= 5% +{0x2¥5%
-3x =X =3 )
T3x346x 13 i
O O
Divide by long division:
f)=x-1 dx)=x-1 3
2
XTEX 4| (x-TYy =X
3
X-1 ) X"+ Ox>+0x - |
\
X1+OX
—_— Q
XT4x |
X~
X+

0



Divide by long division:
f)=x-2¢-9  dx)=x-3

X+ X +3

X-3 7)(3— x> +ox-9

Divide by long division:
fx)=2x"+4x> - 5x* +3x-2  d(x)=x*+2x-3
ax* + | ’rxx%ax_?) X3
X +2ax-3 >9Xq+qx3—5xl+3x-a
XY FUxoxt ||
T
- X3 12X +3

O ava)(as 1) 4 < <
toX-3




Write the function in the form f{x) = (x - k)q(x) + r for the given value of k,
and demonstrate that f(k) = I. (remainder theorem) C’Z)X *QXSX-B-Q)( _}‘-l/a\,l_ %

)= 1564+ 100 - 632 + 14, k= -2/3 Bxxd

CER) = I5CAY10CRY-C () +1Y

divisor
|‘< = "2/3
X =% (SXJra}
5x> QX 1945

5o | L
\
O + 0
FOX®+Y X <’§
T gxFAH
LA ST
3
24

Write the function in the form f{x) = (x - k)g(x) + » for the given value of k,
and demonstrate that (k) = 7. (remainder theorem)

fx)=x*-x>-10x+7, k=-2/3 _3_‘@
1) 1
X -y -
3 A
3x+’&\)x ZX 10X+ 7
X ‘3 ').

=S v 2 |0x
= 10

13 +|o

30 37
B+

0
30y L9

160+ 7)
9 Y
ESl



Section 2.3 day 1
Pg. 142-144: #1, X, 8, 10, 13, 3,21, 22, ;(f, 46, 48, 79, 83-86, 90
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